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Guestrons 1.to 26 eany 2 ma" behicEor eacif question, four-options. aregwen @ne of
them is the correct answer. Maks: ’Agﬁi‘cherce , 2 3 or 4). Shade. iheeual (1,2, 3014y
on the Gp‘tleal Answer-Shset {@A@}

1. Whatis the product of S'ard 97

(1 1

2 o

3 18

@ 81 . ¢

2. Whatis the quotient of 378 + 72

(1) 5%

@ 371

(3 378

4 2646 0

3. Express 2 m 30 cm in centifeires.

(1) 203cn

(2) 230cm.

(3) 2030cm

4 2300cm e { )]

4. The mass of a Primary 3 gir! is most likely fo be

(1) 30g
(2) 300g
(3) 3kg

(4) 30kg ( )




What time does the clock show?

@y

(2)
(3)
4

What is the area of thie shaded region below?

o

M
2)
(3
(4

20-minutes te4-O clock
20 mithutes ta $ O'cleek
40 mifutes fo 5 O'dlock
40 misites past 5 O'clogk -

1cm.
t—

7om
8 cm?
9 cm’
10 cm?

vAg



7. Which pair of cards has the same value?

Card C ' o Card D

(1) AandB
(2) AandD
(3) BandC
4 CandD o )

8. A number is divided by 8. The quotient is 7 and the remainder is 6. What is

the number?
( 21
(2) 50
3y 5% o
-(4) 62 ' ( )

9. Peter has 256 stamps. Peter collgts 8 times as-many stamps as Ah How
many stamps does Peter have more: than Ali?

(1) 32
2) 224
(3) 248

(4) 288 ( )




10. Stall A is having a drink sale. A Siuflent has $2. How much change did hie
have left after buying 2 packets.of Tilk?

.“- H 7..:.-'.".~_

B e b = +1 =08

£ Usual Price
: $0:80

R 50 Price
g $0.60

(1) $040
2y $080
(3) $1.20
@# $140° ( )

11. Whatis % - %? Express your answer in the simplest form.
1
M 3
4
@ 3
2
2

(3}

o

-

(4)% . ¢

—

77.






1

12. Which of the following is less than 2 ?
2
M 3.
2
@ 5
5 X
G 7
. B
@ 3 ¢
13. 355 min is the same as
(1) 3h55min
( S5hSsmin
(3) ©6h5min
(4) 35n5min - | « )
14. John took 3 h 5 min tofinish his painting. His sister, Mary, took 2 h 35 minto paint a
painting. How much longer does John take than Mary? -
(1) 30min
(2) .70 min
(3) 1h30min | - |
(4) - 5h40min : ' ‘ ( )
45. The sum of 2 numbers is 5234. The difference between the 2 numbers is 66.

What is the bigger number?

(1) 2584
(2) 28650
(3) 5168
(4) 5300 ¢ )

77



16.

17.

There are 25 students in the class. 15 of them like only blue colourand the
rest like only green colour. How many more:studérits like Blué colaur?

(1) 5
2 10
(3) 15
(4) 40 ( )

3 pairs of shorts cost as much as 4t-sh1rts The -pric;e- of 1 t-shirtis $ 6. How
much more does a pair of sherts costthan a t-shirt? o

(1) 96
@ $2
3 $18
4 %24 e ( )

18. There are 10 trees on a straight road. The trees are planted at equal

Start[c:f

distance. The distance between-every 2 trees is 10 m. No tree is-planted at
the:start of the road. Howdeng is the road? :

the road the road

(1) 90mm

(2) 100Fm

(3) 120@m

(4) 130§m ¢ )




. 19, John's’ helghhs 130 cm. Mary's helght is 125-cm. M *1sw4e—em’=m

height. How riuch Hiller is Mary thian.Jofin whien WMy is ARG on s 2?

~40 cm
(1) 45cm
{2) 50cm
(3 7oem
(4) . 8%cm ( )

20. The'f igure below is made up.of 2:squares, ABCD:- -and PQRS What fraction of the-
ﬁguré .15 shaded? Express youranswer in the. sm:piest form.

A .- .- e . LTI b L2 T A
e — e T - -

W 7 °

@ 3

@ =

{4) Tzé_ « )

72/,



AL

Questlons' 21 to 4@ car[y 2 marks each Shew your werk _‘cleariy m the space.
provided for each questmn and write . your answers. i e _"pa‘ees prowded For
. -qaes‘tmns-whloh requifeunits; give your: answer&m the- units- s’éated-.

21.  Write 5 943 in words.

Ans:’

22. Form the smallest 4-digit number between 2000 and 3000 wrth the digits
8,0,2,5. -

Ans:

23. Study the number pattern carefully. Then fill in the missing number.

5 25 125 ? 3125

Ans:




24,

25.

26.

Use the data in the calendar to help you answer the question.

Ans:.

Ans:

Mary has 28 hair cllps Jane has 7 hmes as many hair clip ps as tier. Hew many
han' clips daes Jane hawe? " : .

54 sweets are shared equally amorig 9 students How many svieets did each
student receive?

Septowitier 1042
Sun Mon Tues | Wad | Thur En Sat
' 1

2 3 4 5- 5 . 7 3
9 10 1 12 13 14 15
16 7 18 -, 19| 20. 21 29
23 24 25 26 27 28 29
30 i

How many days are between 3% September 2012 and 25" September

20127

Ans:

/73



217.

Find the total amount of money shown above.

Ans:

28. Draw one arrow pointing at 3 kg 600 g on the scale.




29. How much more water is needed to fill the containerto 3 £ ?-
Give your-answer in-litres‘and mifiliteres: -

mé

Ans:

30. Ajughas2¢70m¢ of lemonade. Sue pours the lemonade into each cup such

that the cup-is_-fuuy filled to the-top. The capacity of each cup is 90 md.
How much lemonade is left in the jug?

2£70mé, 90 m¢f in each cup
at first

Ans: ms

11

7OV,



Use the graph. below to answer questions 31 and 32,

This graph shows the number of Pokémon cards 4 chlldren e, FfoWe%- .
graph is not cempleted properly. The correct number of Pokémon cards Wh.ch'-
Raodney has is not:shown accurately in the ' graphbetow.

Name of Child

Number of Pokémon'.ca'rds.

31. Among the 3 boys, Kevyn, Wayne and Dave, who has the least number of
cards?

Ans: o

32. The total number of Pokemon cards which_Kevyn, Wayne and Dave have is
thrice the number of Pokemon cards which Rodney has. Complete the bar
graph above to show the number of cards Rodney has.




Compfletequestions 33 and 3‘4 using the diagrarm beiow The diggram s made™ ”p“" of
121dent:ea[squares

Ans: |

"34. How many more squares+nust be-shaded-such that % of the figure is

shaded?
Ans:
35. Arrange the following in order beginning with the smallestto the largest. e
.2 1.4
5 7.9
Smallest Largest
Ans: . -

13

o/



36. A plane leaves. Singapore for- Honngengat 6. 50-a.m. It reaches Hong ong
at 10.40 am. How Iong did-the dirplarie-take to fly from Sirigapere to Hong
Kong? Express your answer in-liouis-and-minutes.

? h 2min
>
Singapore - Hong Kong
Departure time Arriva-l time
6. 50 a.m. 10. 40 a.m.

Ans: ‘ h mint

37. Al tcok the airplane which' travel from Singapore to Austrllia. The alrplane
tock:5. h 30:min to reach-Atistralia. THe air;prane feached Ausiralia at
3.10 p.m. What time did the- -airplane leave:Singapora?

5 h 30:min
>
Singapore Australia
Departure time Arrival time
2.a.m. =320

3 D m.

a.m.

Ans

14




-Us&tt_;e-_infpﬁnationgiveWbéiswiomquugggmpr§3jra§@3_§; :

The length and breadth of a rectangular fiving soeni is 8 m aiid-6 m respectively.

.
.

| dgunnnsa 8m

6m

38. - Whatisthe aiga-of theliving Toom?

Ans:

39. Whatis the perimeter of the Iiving'room?

Ans:

15

7



40. The figure belowis made up of 4 identical-rectangles-What jsthe-perimeter-of-
the figure below? '

cm

Ans:

16




Section C(26:marks)

A

Quigstion 41 15

P -ty s -
figplas g b < a7=t
e chivh- ol oo o 5 12 ATt T
T AR s b v = o
"HHS S { o
tdindtbhiid g niras o i rl At DR

belsw each qugktion:afd. write:yoir EH:

.41, Tom, Harry.and:Ron collsst eraséfS. R ati HeFhiNe10-etasets gach.
The fotal number-of erasers-both-of themhave isthe-same-as the-number of
erasers Tonrhas: How-many-erasers do they'have -aitogether?

42. There are 2 bags of sice, Bag A and Bag B. There are 330 4 of rice in Bag A
and the amount of rice in Bag Bis 3 times the amount in'Bag A. 40 g of ricg
‘s transferred from Bag B to Bag A. What is the amount of rice in Bag B after
the transfer?

17

V74



Peterhas Tbagswferasers Each

bag contazns 9 erasers.
: 'H&repaﬁ sall B&emgsematmd'
& ersdetti

43.-
"‘ﬁﬁ@kﬂfaxes of gxaily. ! 5; erasers:in.each -

. ) - Howmanyhaxes-did-Peteruse? .

b) How many erasers are left over in the end?

I8




<—5 om—><——— 10.cri#

,%
) ]
1 I
1 t
1 i
1 i
I i
! '
o

19

273,



45. Théfé&“é‘:t’”féhﬁf 15 insyel‘e”s“”a“‘“ i *;@:gfﬁ ai’éﬁep‘ Eéa],mcysre a5 Tiheds
-andeactrcar has: A wheeks. Fherais:

{a).-Hig v,ﬁm;n,ﬁy«inwj---;--;.- g
\b) Hewmany-ears:are rthe;ev

20




Answer

- -~

EXAM PAPER 2012

SCHOOL : NAN HUA
SUBJECT : PRIMARY 3 MATHEMATICS

TERM : SA2

QL[ 0z Q3 02 Q51061 Q7] G8

Q17

4 1 2 4 2 1 2 4

Q10[Q11[Q12]013[Qi14[ Q15[ Q16
1 | 2 | 1 2

Q18] Q19 [ Q20
2

3 3

21)Five thousand, nine hundred and forty-three 22)2056 23)625

24)196 hairdlips ~ 25)6 sweets

28) 29)1 L 600m!

26)21'days  27)$24.45

30)1800ml  31)Dave

32)Rodney draw to 30 33)1/6 34)7

35)1/7,2/5,4/9
38)48m2 39)28m 40)46cm

41)40x 2 = 80
80 +40 + 40 = 160
They have erasers altogether.

42)330gx 3 = 990g
990g — 40g = 9509

43)a)? x 9 =63
63>-5=12R3
Peter used 12 boxes.
b)3 erasers are left over

44)10cm + 5cm + 5cm = 20cm
20cm x 5¢cm = 100cmz

36)3h 50min 37)9.40a.m.

45)a)7
" B)8

e
ZHpH


Answer Key
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